ITEM NO. PART NUMBER DESCRIPTION QY.
1 J2U-SA1 J2 LEG SUB ASSEMBLY 2
2 8IWC-5 15/16"OD J2 WC TABLE CROSS BRACE 2
3 8IV-8 8' VP SEAT SUB ASSY 2
4 8IPTV-9 8'VP TOP SUB ASSY 1
5 Regular FW 0.375 3/8" REGULAR FLAT WASHER 15
6 HBOLT 0.3750-16x1.75x1-N HEX HEAD BOLT 3/8"16x 1 3/4" 1
7 HBOLT 0.3750-16x1x1-N 3/8"-16x 1" HEX HEAD BOLT 2
8 HBOLT 0.3750-16x1.5x1-N HEX HEAD BOLT 3/8™16x 1 1/2" 12
9 Regular LW 0.375 LOCK WASHER 3/8" 15
10 |HNUT 0.3750-16-D-N HEX LOCKNUT 3/8"-16 15

Expanded Metal Not Shown
for Reasons of Clarity

GENERAL NOTES:

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL+ 1/32

BEND * 1/2°

THREE PLACE DECIMAL + .005

NAME

DAT

DATE

DRAWN 9/19/2016

CHECKED
ENG APPR.

Do Not Scale Drawing
MATERIAL

MFG APPR.

Last Saved
COMMENTS:

3/1/2017 4:42:26 PM

Confidential Drawing and Information

is Not to be Copied or Disclosed to Others
without the Consent of Kay Industries.
Specifications are Subject to Change
without Nofice

SHEET 1 OF 2
S\CADDRWGS\Solidworks\Tables\J2\New Handicap Table 062016\

Path to Part or Assy - 8J2GVPUWC

&.

TITLE:

K Industries, Inc.

PESC. ADA TABLE 8 FT. VINYL PLASTISOL

S:\CADDRWGS\Solidworks\Tables\J2\New Handicap
Table 062016\

SIZE PART NO. REV
B 8J2GVPUWC




yl Plastisol Coated
Seats 3/4" #9 Expanded

m

v

Metal With 1/8"x 1/2"x 1 1/2"
Steel Frame Channels

%

8J2GVPUWC----HAS GALVANIZED LEGS and BRACES
8J2CVPUWC----HAS POWDER COATED LEGS and BRACES

Vinyl Plastisol Coated
Top 3/4" #9 Expanded
Metal With 1/8"x 1/2"x 1 1/2"
Steel Frame Channels

0000000

96"

YYYYYYYY

DOUOOOVOOOUOIXEX]
" ”ooo.ooooooooooo..oo”... .o., .o.
0000000000000 4

0000000000000 4

) X
e R o
0000000000000 0100000000000 )04(

s ,
W 0
RN
KB XXX
R RRR XA XXX EXOXXXXXXXXAXKX
440 ¢ '
B O
KRR
440 ¢ J
s e
OO0 XXX XX XXX TX
ORI v..................”... XEX
440 ¢ .
R
OO0 XXX XXX XXX TX
ORI v..................”... XEX
X000 EXEX XXX XXX X XK
XXX
e e
¢
R Y ".“ "
;

"
i AOOO00N000E0)
w 0

AR
e e of
OROOOOOEBOOANONX
e Aty o
(KX ) !

OB

g g
RN
.o. S ....ooooooooooooooo%o. H..., woo..oooooooooo..ooo... .o., .o.
@I 0P000000000000100000000000)00(
.o. wo. ...ooooo.oooooooooo.. .., woo.ooooooooooo..ooo... -o., .oA

VRYNYVYYYYYYYYYNYYYYVYYYYYYYYYYNY

0000000C

00000

YYYYYYYY

REV

d

1de
as to

Cham%er
Not Rock on Uneven Ground

——45 De

3 lll

K Industries, Inc.

8J2GVPUWC

o
B

S:\CADDRWGS\Solidworks\Tables\J2\New Handicap
Default

DESC. ADA TABLE 8 FT. VINYL PLASTISOL
Table 062016\

SIZE  PART NO.

TITLE:

&.

604"
45 De% j —xTable Rests on Outs
Chamfer Formed Tubing So

DATE
9/19/2016

NAME

DAT

3/1/2017 4:42:26 PM

DRAWN
CHECKED
ENG APPR.
MFG APPR.
Last Saved
COMMENTS:

LZ"X 3" 3/16"
Angle Iron

5916" —‘

+1/32

UNLESS OTHERWISE SPECIFIED:
Do Noft Scale Drawing

DIMENSIONS ARE IN INCHES
MATERIAL

TOLERANCES:

SHEET 2 OF 2
S\CADDRWGS\Solidworks\Tables\J2\New Handicap Table 062016\

BEND * 1/2°
THREE PLACE DECIMAL + .005

5/ n
1876
FRACTIONAL

11 Ga Wall (.120)

2 3/8" OD Galvanized

7/16" Dia Weep Holes for

Drainage

Path to Part or Assy - 8J2GVPUWC

GENERAL NOTES

3:3'!

1N

(5(3"
1 5/16" OD

Galvanized
Tube

2

Powder Coated Legs

Galvanized or

is Not to be Copied or Disclosed to Others

without the Consent of Kay Industries.
Specifications are Subject to Change

Confidential Drawing and Information
without Notice



	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Drawing View3
	Drawing View4


